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1. If 
5−2√6

5+2√6
= 𝑏 − 𝑝√6, find the values of 𝑏 and 𝑝. 

2. Represent √8 on the number line. 

3. Simplify: (
2−1×32

22×3−4)

7

2
× (

2−2×33

23×3−5)
− 

5

2
 

4. Simplify: 
2√6

√2+√3
+

6√2

√6+√3
−

8√3

√6+√2
 

5. If 𝑥 =
√3+√2

√3−√2
, 𝑦 =

√3−√2

√3+√2
, then find the value of 𝑥2 + 𝑦2 

6. Find the value of: 
330+329+328

331+330−329
 

7. Evaluate: (√5 + 2√6) + √8 − 2√15) 

8. If 
√5+√3

√5−√3
= 𝑎 + 𝑏√15𝑏, find the values of 𝑎 and 𝑏. 

9. Represent √5 on the number line. 

10. If 𝑎 =
3−√5

3+√5
 and 𝑏 =

3+√5

3−√5
, find the value of 𝑎2 − 𝑏2. 

 


